3 (Sem—4/CBCS) EDU HC 2

2022
EDUCATION
Paper : EDU-HC-4026
( Educational Statistics )
( Honours Core )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer/Fill in the blanks of the following
(any seven) : 1x7=7

o faEe T fa/A@ M g w0

(R T M) :

(@) Write a definition of statistics.

vfﬁﬂwﬁw«aﬁm@ﬁm

is the most frequently occurring

(b) . . .
score in a distribution.
e Rerewe SR oIS T AT R
et 2 |
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3 )
(2) ;
. g : o (h) _____ means interrelationship between
(c) 1s. a figure wh.1ch indicates how two or more variables.
many times a specific score repeats
itself in a given class interval. T 9y Tzex R 91 SelRF ARTSA i
1 SRR T SR |
— @R @R, R@ @ @ e
T SRefe ffte 1 qfig ARG sffet () Normal probability curve is
et 3 | shaped.
(d)  Round off the following number to two - T IR T Sl
decimals :
() The curve that is more peaked than
S IR 71 il B St (round normal probability curve is a ____
off) F1 : curve.
97-82556 ] PR SRl IGele 9RT (@ 3@ (2R
i & |
() What other name ¢ .
an be
SOy i used in place
OY ¥ Sefyy o 2. Answer any four of the following questions :
% T w72 < o1 2 2x4=8
U .
0 render normal  conditions, Ood 2P R e vkt Tes i
presents its 8roup in the m ost reliable
Mmanner. (a) Mention two advantages of frequency
ISR s, Q2 R 23 o< T distribution table.
mm%ﬁ@mma%ﬁmml TR Rerem Wi 751 R Sems 47 |
(9) Th.e word  ‘standarq BEviston! | was (b) Write two advantages of central
soted by e |, tendency.
Standard deviation® sy . 55 ‘ TR 2RTO 1 SR e |
e TN
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(c)

(@)

(e)

()

(4)

;Nhat is the formula to calculate median
Tom ungrouped data, if data are even?

RS AR i fief 3
e ! i, e g8

Write two uses of mean.

TS 1 TR gy ey |

Th i
€ median and mode of a distribution

are 2825 and 4 y
out the mean, 2555 respectively. Find

mean of thege two groups

QI @5y
IR ofs AW W 50w r o

WSOW&Q@B‘[ 9[% s
ﬁ%ﬁw%‘%wﬂ« o
T IS T8 Bdjeqy |
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(5)

If Q3 =86-37 and 0=12-18, find the
value of Q.

zrﬁQs=86-37W Q0=12-18F, QI 99
ferean |

Answer any three of the following questions :

5x3=15

oo 2pTgEd R e fofeR e it -

(@)

(b)

(c)

(@)

Mention five characteristics of mean.

sTeq #(1o51 CfA1E) SraEy 41 |

Write five general principles of drawing a
graph.

@foa TS e @ feh TR S
feram |

Write about the drawing procedure of
frequency polygon.

IRFTO] TRPE TF &l 910 o130 |

Calculate average deviation from the
following scores :

weq qIFPIRA #R1 o1 RpfS Sferea -

20, 18, 42, 46, 50, 64, 75
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(6 ) (7))

(¢) Find out the standard deviation of the @[S PFredicn @b e RS e w9S
following scores : (= 50, CIIIOR T TF9 (27 60 HF

% (R 6; PRSI e W $
WWWW@@%W@@; izt

8; 9, 10) 11’ 12, 13, 14, 15

4. Answer any three of the following questions :

() Ranking of 7 students in two subjects X £ R o
and Y are as follows - o] f i
OeTq PRI [ (ICAT T© hy :
7 5 Preficy Ry X e BIPTR
g Yo F© 3591
OIS 1] 1qerq - (a) Find out mean from the following
distribution :
X 0Taw. Bsi U6
1 2 7 : oo feTeme o o ey 4
Y: dwg 1 4 S 2 6 7
Find out the coefficient of correlation - ;n;m’ 7al e
begneen the marks of Subject X an-d o i
subject Y b i
jec y rank difference method. e ]
B N ~rafeq Ry x IR SR
< Y] g :
BEARF Tefy 37 |
35-39 2
(9) Mention five ch s :
aracteristi
Probability Curve, : R A S ;
: : 20-24 g
mm%ﬁﬁmmhﬁﬁx%quI o 4
h
(h) Isré) a class test, g student has secured g :
andrnarks. The mean of the group is 60 i :
Standard deviation is ¢ What is the i
Percentile rank of the student?
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9
(8) L&)

(d) Find out quartile deviation from the

(b) Draw a histogram from the following following distribution :

table (use graph paper) :

O Iferrg ey Reremd o[ vpde f[Rpife Sferea :
ST [ SRefog o
TS IR (1) - el - (C';f"f Class interval Frequency
L ) T IR
Class interval Frequency 35-39 9
T I 30-34 5
5550 8 25-29 6
BOa8¢ 9 20-24 10
s 10 15-19 8
0 5 10-14 0
65-69 8 N=40
60-64 A :
55-59 v l (e) Find out Py, and P;5 of the following
50-54 ¥ distribution table :
9
_\
N=56 Toq Rores SIfeeR o[ Py, S® Pysd T
: . &l :
() Find out standard deviation oh he Tfer
following distribution by using long Class interval Frequency
method : 191 5@ BRSO
1] 50-54 2
R 3 40-44 2
- Class interval Frequency 35-39 6
L AR 30-34 8
e F 25-29 8
25-29 2 20-24 7
e 5 15-19 5
15-19 8 g 5
10-14 b by o
N=20
23 Turn Over )
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( 10 ) ( 11 )

() Find out the percentile rank of 24 and (h) The percentile rank of a student is 80 in
: cplfuts . . a test in English. The mean is 50 with
55 of the following distribution table : e esiotion 7. What s thetnarles
o] JRERe (o wifeer o]l 24 < ' secured by the student?
55 B X[OR¥F ¥ Sfened :

TG R 2R oo swed @[ et
YRR >R T (R 80, Preidiem 2

Class interval Frequency IO T 9 m 50 SF S ﬁfff% 7
S S Rew@iorricn R 79 1t 2
80-89 2
70-79 1
60-69 1 ALY
50-59 2 e
4049 S '
30-39 4
20-29 3
10-19 2
N=20
(g) Compute the coefficient of correlation by
product moment method between the
given two sets of scores :
G T Ao gme R N PR qox
RITIR QT Tfeeq
X : 65 60 50 40 30 20 80
Y : 50 55 80 90 85 79 77
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